=LPDB

3UDFRZQLN 5RINiDG  GU = LAQLHZVND ¢0LZLeVND +DQQD 7\J

7\J

%H]SIHFTHEVIZR | KLILHQD SUDF\ ]

7N
3LHUZV]D SRPRF SUJHGPHG\F]QD 1Z

7\J
%RPHG\F]QH SRGVIDZ\ UIR]ZRIX UZ G

7\J

%RPHG\F]JQH SRGVIDZ\ UIRJZRIX Z GU

o HIJRQRPla Z Gl = L6QIHZVND G = LGOIHZVND GILZLEVND +DQQD = U = LGQIHZVND GUZIEVND +DQQD 363 - IGQIHZVND §ILZIEVND +DQQD 363
M §ILZIEVND +DQQD = 363 * 363 & 3637 - - - -
= =DICFLD Z WAELH JGDIO\P DICFD Z VAVIHPLH JGDIQ\P DICFD Z VAVIHPLH JGDIQ\P
=DICFLD Z WAELH JGDIO\P
7\6]
%RPHG\F]
QoH
SRGVIDZ\
= IR]ZRIX L
I Z\FKRZDQL
i DZ ol
ﬁ = I6QIHZWN
D GUZLEVND
+DQQD =
3
/ -
=DICFID Z
IW\ELH
1GDIQ\P
7N 7N 7N
a 9%RPHG\F]QH SRGVIDZ\ UR]ZRIX L 9%RPHG\F]QH SRGVIDZ\ UR]ZRIX L 9%RPHG\F]QH SRGVIDZ\ UR]ZRIX L
o Z\FKRZDQID GIIHFND GU = [GQLHZVND Z\FKRZDQID GIIHFND GU = [GQLHZVND Z\FKRZDQID GIIHFND GU = [GQLHZVND
> ILZIEVND +DQQD = 33: - ILZIEVND +DQQD = 33: - ILZIEVND +DQQD = 33: -
« - & &
=DICFLD Z IAELH JGDIO\P =DICFLD Z IAELH JGDIO\P =DICFLD Z IAELH JGDIO\P
7N 7N 7N
3UTHGPLRI IDNXIIDINZQ\ GR Z\ERIX , GU 9%RPHG\F]QH SRGVIDZ\ UR]ZRIX L Z\FKRZDQID Z Gl %RPHG\F]QH SRGVIDZ\
= [GQIHZVND §ULZIEVND +DQQD 3 / = L6QIHZVND ILZIEVND +DQQD = 335/ = UR]ZRIX L Z\FKRZDQID
: e . Z Gl = I6QHZVND
‘ 3LHUZV]H TDICFLD VIDFIRQDUQIH SRTRVIDIH Z IRUPLH Z 6
z =DICFID Z I\ELH JGDIQ\P 1GDIQHI GUZIEVND +DQQD 3/
< :
) .
a 7N 7™ =DICFLD Z IAELH JGDIO\P
,’;‘ *HURQIRRIID Z GU = (6QIHZVND §ILZLEVND +DQQD 3UJHGPLRI IDNXIDINZQ\
w 335/ = GRZ\ERIX, GI
o : e ‘ = L6QIHZVND gILZLEVND
=) \ =Dl I
NJ  JDICFD  PLQ =DICFD Z IRUPLH ]GDIQHI i R
=DICFID Z I\ELH
1GDIQ\P
7\6]
*HURQIRIRJ
DZ ol
z = L6QIHZWN
L D GUZLEVND
Q +DQQD =
0
335/
=DICFID Z
IW\EIH
1GDIQ\P




=LPDB

3UDFRZQLN 5RINiDG  GU = LAQLHZVND ¢0LZLeVND +DQQD 7\J

x
©
7N 7N 7N 7N

9%RPHG\F]QH SRGVIDZ\ UR]ZRIX | 3UJHGPIRI IDNXIDAZQ\ QD , ) 9%RPHG\F]QH SRGVIDZ\ UR]ZRIX | 36: Z G = LGQIHZVND GILZIEVND
Z\FKRZDQID GILHFND GU = LGQHZVND VHPHWIIIH Z  GU = (6QIHZVND GI.ZIEVND! Z\FKRZDQID Z Gl = (6QUHZVND +DQD 36 (3 :
GUZIEVND +DQQD = 33:- - +DQD 35 = GUZIEVND +DQQD = 35 - 731(7 -

= T =DICFLD Z IRUPIH JGDIQHI =DICFID Z W\ELH JGDIQ\P =DICFID Z IW\EIH ]GDIQ\P

L =DICFID Z IW\EIH ]GDIQ\P

oy 7]

g ™ 3UJHGPLRI IDNXIDAZQ\ QD ,

9%RPHG\FIQH SRGVIDZ\ URTZRIX L
Z\FKRZDQID G]IHFND GU = [GQIHZVND
GILZIEVND +DQQD = 33: =
&

=DICFLD Z W\ELH JGDIQ\P

VHPHVIUTH Z  GU = LGQIHZVND §LZLEVND
+DQQD = 35 =

=DICFLD Z W\ELH JGDIQ\P




